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1. TR T QM drel 91T © 1.  Edible part of carrot is :

(A) o (A) Stem

(B) ™ (B) Flower

(C) Jis (C) Root

(D) SWa &l (D) All of the above
2. TIRHICH B © 2. Climacteric fruit is :

(A) 3T (A) Mango

(B) 3R (B) Grape

(C) S (C) Jamun

(D) (D) Litchi
3. 3 & AGARIG JARYT BT © 3. Mango is commercially propagated

by :

A dow (A) Seed

(B) WX W (B) Sucker

(C) J-afeT (C) T-budding

(D) AR TfdeT A (D) Veneer grafting
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4. fr=foRag & 9 9f$T @ -1 Ta fafd 4. Which of the following is not a method of

o budding ?
(A) <r-afeT (A) T-budding
(B) R afeT (B) Ring budding
©) Ya sfeT (C) Patch budding
(D) TR R (D) Air layering
5. ‘Eihed?’ U< Bl IR T8 5. The term ‘horticulture” is derived from :
A Fow (A) Greek
(B) dfeTd (B) Latin
(C) %I ¥ (C) French
(D) 3l A (D) English
6. feaamr T wRfd 2 6.  Tikka disease is related to :
(A) el | (A) Groundnut
(B) =T ¥ (B) Sugarcane
(C) T | (C) Maize
(D) a9 (D) Rice
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7. 9RAN URY R A9 & WS §
(A) T IR
(B) T . geoR
(C) =g TH HR
(D) e B

8. SgRY BHEA (drer) fbw av ool A
T ?
(A) 1879
(B) 1845%
(C) 1960 ¥

(D) 1843 %

9. T HASA (31hTel) Sof foha AT o

(A) 1945
(B) 1943
(C) 1878
(D) 1879

10. 9 ¥ FIST ot WIe I BT HR 2

(A) faumg
(B) ftary

(C) TP
(D) 3ara

Ag-1010
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Father of Indian Plant Pathology is :
(A) T.J.Burril

(B) E.J.Butler

(C) W. M. Mayer

(D) Robert Koch

Which year was Irish Famine reported ?

(A) 1879
(B) 1845
(C) 1960

(D) 1843

Bengal Famine was reported in :

(A) 1945
(B) 1943
(C) 1878
(D) 1879

Brown leaf spot of rice is caused by :

(A) Virus

(B) Bacteria

(C) Fungus

(D) Algae



11.

12.

13.

14.

U & WRT T $T BR &
(A) Fa®

(B) ity

(C) Ri® o fddmar
(D) fSid o1 41

S e I B

(A) 91 HaT ST T
(B) 3<ING ¥aT WA+ T
(C) a9 S AT
(D) 3R &I S T

SIdCe HIShINDIT Bl WioT b af &ff ?
(A) e

(B) g UTR

(C) T T

(D) SWa ¥ ¥ I3 T

T B el FRS @ :
(A) I RIToe®)
(B) @Ry

(C) T

(D) SWad # | BIS T
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11.

12.

13.

14.

Rice Khaira disease is due to :
(A) Fungi
(B) Bacteria

Zinc excessiveness

(©)
(D)

Zinc deficiency

Loose smut disease is :

(A) Externally soil borne
(B)
(®
(D)

Internally soil borne
Externally seed borne

Internally seed borne

Who discovered Electron Microscope ?

(A) Twort
(B) Louis Pasteur
(C) Kbnoll and Ruska

(D) None of the above

Disease causing agent is :
(A) Pathogen
(B) Environment
Disease

(©)

None of the above

(D)
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15.

16.

17.

18.

ot BT S Rerfd dgerr 2

(A) AToH

(B) T

(C) armERY

(D) SWa &l
BT ST Il 2
(A) I A

(B) HI®H A

C) TEW

(D) 99 ¥

IRA H gRT P+ & oS & :

(A) T . Rl

(B) TUH. UH. MMM
(C) & . W5l

(D) S T Pl el
g @ A

(A) S

(B) TeffeH
(C) (A) 3R (B) &l

(D) SWad # | BIS T

Ag-1010
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16.

18.

Abnormal condition of plant is called :
(A) Pathogen

(B) Disease

(C) Environment

(D) All of the above

Green Revolution is related to :

(A) Mustard
(B) Maize
(C) Wheat

(D) Paddy

Father of Green Revolution in India is :
(A) N.E.Borlaug

(B) M. S. Swaminathan

(C) K.C.Mehta

(D) None of the above

Wheat protein is :

(A) Gene

(B) Gluten

(C) Both (A)and (B)

(D) None of the above
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19.

20.

21.

22.

A0® T BT BRI 2
(A) Sl
(B) Had

(c) faumy
(D) 3ard

UG i
A T
(B) &M
(C) |
(D) <ar

Wl A B B B
(A) IR
(B) HUN
(C) T

(D) o

fe=forRad & & dH-11 faeed BT 8 ?
(A)  I9

(B) RoTHEl
) fot

(D) ST W

Ag-1010

19.

20.

21.

Mosaic disease is caused by :
(A) Bacteria

(B) Fungus

(C) Virus

(D) Algae

Green manure crop is :
(A) Wheat

(B) Paddy

(C) Mustard

(D) Dhaincha

Rabi season crop is :
(A) Arhar

(B) Cotton

(C) Gram

(D) Paddy

Which of the following crops is oilseed ?

(A) Mustard
(B) Sunflower
© Til

(D) All of the above

Set-B



23. ?Iﬁ“a'[ § TSI @f JEr g 2 23.  Ureacontains ................ nitrogen.

(A) 18 ¥ferd (A) 18%
(B) 36 ¥fu3d (B) 36%
(C) 46 ¥fu3rd (C) 46%
(D) 26 FfT (D) 26%

24, HAMS dad IACT BRI dlell o7 24.  Highest rice producing state is :

g

(A)  TREH ST (A) West Bengal
(B) SR ya¥ (B) U.P.

(C) s (C) Haryana
(D) ¥ed uod (D) M.P.

25. g q= Bl b 9 H I T IA 25. Short duration crop grown between two

)y I BT T o & main crops is known as :
(A) HRFRE HId (A) Companion crop
(B) 3Id:Hdo (B) Intercrop

(C) & Hua (C) Catch crop

(D) Rel B (D) Relay crop

Ag-1010 (9) Set-B



26.

27.

28.

Ag-1010

REE O & @ WS B G Bl
e ¢ :

(A) HEHeH

(B) TdHIIA

(©) T

(D) §HCIIR
HolRE HGR R & -
(A) g9 3

(B) T A

€ Td

(D) R A
PTED JIRS © -

() IR

(B) I T UL

(C) TH. 3m. W

(D) ST W

(10)

26.

27.

28.

Application of herbicide with irrigation

water is called :

(A) Fertigation

(B) Herbigation

(C) Irrigation

(D) Insectigation

Phalaris minor is related to :

(A) Rice

(B) Gram

(C) Wheat

(D) Jowar

Organic fertilizer is :

(A) Urea

(B) D.A.P.

(C) M.O.P.

(D) All of the above

Set-B



29. TofEl B & :
(A) TT
(8) T
(C) R
(D) Suda Wl
30. fea9q FIOMEl %9 @

(A) 9M

(B) g
(C) T

(D) Hdd1

31, TR &I TIe H U7 ST @
(A) 05 TP Arseio™
(B) 0.2 ¥fIed BRBRA
(C) 0.5 Ufcrerd arereT

(D) ST W

Ag-1010

29.

30.

Legume crop is :

(A) Black gram

(B) Greengram

(C) Redgram

(D) All of the above

Day neutral crop is :

(A) Paddy

(B) Wheat

(C) Gram

(D) Maize

F. Y. M. contains :

(A) 05% N,

(B) 0.2% p,0,

(C) 05% k,o0

(D) All of the above

Set-B



32. V&Y Idd I IR Red ® 32. National Rice Research Institute is

situated at :
(A) THREE H (A) Hyderabad
(B) @Rl H (B) Karnal
(C) @< H (C) Cuttak
(D) TR H (D) Coimbatore

33. QMifBd WY @1 g dedd 33. Removal of an unwanted plant is

s called :

(A) difecT (A) Bolting

() ST (B) Roguing

(C) T (C) Pegging

(D) Sugad FI (D) Al of the above
34, W& B YT Dl BEd § - 34.  Study of soil is called :

(A) TSBIarol (A) Edaphology

(B) Usrarall (B) Pedology

(C) Ugrerslt (C) Petrology

(D) SUYa H A Bl 7l (D) None of the above

Ag-1010 (12) Set-B



35. M & Wd 9 d-9 19 Aperdl & ? 35.  Which gas is released from paddy fields ?

(A) cH, (A) cH,
(B) co, (B) co,
(C) NH, (C) NH,
(D) H,s (D) H,S
36. Hal & §A I9Ud ¢ 36. Major components of soil are :
(A) 2 (A) 2
B) 3 (B) 3
(C) 4 (C) 4
(D) 5 (D) 5
37. &I @I Wil o7awer ¢ 37.  Physical condition of soil is :
(A) ¥&T JeRal (A)  Soil Fertility
(B) HQT ST (B) Soil Productivity
(C) ¥aI feey (C) Soil Tilth
(D) ¥ TR (D) Soil Structure
38. HAdI DU P FIRATIT HEdl 8 38.  Arrangement of soil particles is called :
(A) 2T W (A) Soil structure
(B) 9HaT o (B) Soil texture
(C) ¥aT uRzfaa (C) Soil profile
(D) SUYa H A Bl 7l (D) None of the above

Ag-1010 (13) Set-B



39.

40.

41.

42.

9aT H BT ggrel Ul e &

(A) 25 e
(B) 5 e
(C) 35 Hfoera
(D) 45 Hfo¥@

I AEeIo @l fobd w9 H o § 7
(A) TRTES

(B) T

(C) Hi®e

(D) Suda Wl

U geT @1 1. T, ®
(A) 6.0
(B) 7.0
(C) 80
(D) SWa ¥ ¥ I3 Tl

ST 0 #F ArgeioH gl 2|

(A) 46 Tfoea
(B) 26 ¥fuRra
(C) 28 ¥fuRra
(D) 18 Hfrerd

Ag-1010
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41.

42.

Organic matter found in soil is :

(A) 25%

(B) 5%

(C) 35%

(D) 45%

Plant takes nitrogen in which form ?

(A) Chloride
(B) Nitrate
(C) Phosphate

(D) All of the above

pH of saline soil is :

(A) 6.0
(B) 7.0
(C) 8.0

(D) None of the above

D. A. P. contains ............. nitrogen.

(A)  46%

(B) 26%

(C) 28%

(D) 18%

Set-B



43. Wﬁa—qw """"""""""""""" §|

(C) Pdn

(D) 3

44, Tl BT AR ¢ :
(A) 002 L 4 A
(B) 002 W 4 3l
(C) 0002 L. ¥ 31ferd

(D) 0002 1. & ®w

45, FERE B PGl TE WA Rl

g ?

(A) TR

(B) U¥E

(C) Y Iy

(D) IRa

Ag-1010
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43.

44,

45.

Rhizobiumisa:

(A) Bacteria

(B) Virus

(C) Fungi

(D) Algae

Size of clay is :

(A) <0.02mm

(B) >0.02mm

(C) >0.002 mm

(D) <0.002 mm

Which is not a part

compost ?

(A) Dung

(B) Urine

(C) Crop residue

(D) Urea

of

Set-B



46.

47.

48.

49,

afeoral & 31T B Ped § ¢

(A) TS

(D) udldr

Tl Ud wafeordl 3T Wid @

(A) PREIETEST BT

(B) o @I

(C) faeI¥ va MR @
(D) RN @

M & el BT YHR & :
(A) T

(B)

C) zHRifsTH

(D) 9

Ag-1010
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46.

47.

48.

49.

Study of vegetables is called :
(A) Pomology

(B) Olericulture

(C) Floriculture

(D) Fruit Technology

Rich source of Vitamin C is :
(A) Mango

(B) Banana

(C) Aonla

(D) Papaya

Fruit and vegetable are good source of :
(A) Carbohydrate

(B) Fat

(C) Vitamin and Mineral

(D) Protein

Fruit type of mango is :
(A) Nut

(B) Berry

(C) Hesperidium

(D) Drupe

Set-B



50. el & G dTell 91T &
(A) R
(B) WM
(C) HISirard vd wosrem
(D) <rorm

51. 3TS & q{ © :
(A)  TARISTH
(B) FreH
(C) Tl
(D) IR

52. Il & Urel T H HRO 2
(A)  DRERE
(8) FRffe
(©) TR
(D) ST # | BIg T2l

53. g UMY IETA! R Red B

(A) SIS A
(B) TGS H
(C) % foeell #
(D) 7o H

Ag-1010
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50.

51.

52.

53.

Edible part of banana is :

(A) Aril

(B) Pericarp

(C) Mesocarp and Endocarp

(D) Thalamus

Family of Guava is :

(A) Anacardiaceae
(B) Myrtaceae
(C) Arecaceae

(D) Caricaceae

Yellow colour of papaya is due to :

(A) Caricaxanthin
(B) Quercetin
(C) Anthocyanin

(D) None of the above

Central  Institute  for  Subtropical

Horticulture (CISH) is located at :

(A) Allahabad
(B) Lucknow
(C) New Delhi

(D) Bengaluru

Set-B



54. YRA & AL Bl o 54. National Fruit of Indiais :

(A) ¥q (A) Apple
(B) dMA™< (B) Guava
(C) 9™ (C) Mango
(D) el (D) Banana

55. famforRad § | IF-91 Mawr Bl © ? 55.  Which of the following is a temperate

fruit ?

(A) M (A) Mango

(B) el (B) Banana

© quTar (C) Papaya

(D) LSE| (D) Apple

56. 91T YT bl 9= 9 fAfd 7 56. High density planting method of orchard

IS :

(A) TNHR Tgfa (A) Square system

(B) f@rr ugfy (B) Triangle system

(C) JMIAHR Ugfd (C) Rectangular system

(D) VEHI UZM (D) Hexagonal system

Ag-1010 (18) Set-B



57. 3fe] BT RIS M T : 57. Botanical name of potato is :

(A) AT TH AT (A) Solanum melongena
(B) NilefTH CISRINH (B) Solanum tuberosum
© IECALESIEAR U efUCH (C) Lycopersicon esculentum
(D) DT T (D) Capsicum annuum
58. THICX & ol ¥ BT BRI © : 58. Red color of tomato is due to :
(A) dTEHIUH (A) Lycopene
(B) TISMH (B) Anthocyanin
(C) BIEH (C) Carotene
(D) SiAfthdl (D) Xanthophyll
59. ‘GHY AR T fbe & 59. “Kufri Badshah’ is a variety of :
(A) THICR @I (A) Tomato
B) fd ot (B) Chilli
(C) 3] @l (C) Potato
(D) §TF @I (D) Brinjal
60. UBH4IOIIAl Bl & : 60. Monocot fruit is :
(A) 3H (A) Mango
(B) Dl (B) Banana
© quTar (C) Papaya
(D) 3 g (D) Guava

Ag-1010 (19) Set-B



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRITIT STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE &RM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @15 A WG BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e ¥ dN-ga, deldeicy, Yok a0l Heger
B o SHT T BT START BRAT afoid 8 |

12. 9 & B U9 IS WURRY § A=ar 89 &
T H YT BT U WURYT & A BT |

Fecaqul  YEIYRKIT Wiel W Y Wi PR ol o
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